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OO0 3.20 A0D0OO0OOOODO. AAx=A*A0000000,AQ0000Q00,A*=A0000000,A00
000000,A*=-A0000000,AD000000000,A4*=A"10000000,A0000000
goog.

00 321 AQO KOOOOOOOOO n00000O0O0O0O0O0,A0000000O0O0O0O0O0O00O00O0,AQ0O
0000 Aep,Aeq,...,Ae, 0 K" OOOODOOOOODOOOOOOOOODO.

n

00 A=(a;) 0000 A*AD (5,4) 000 Y apar; = (Ae;, Ae;)) 0000000, A*A=E, 00000
k=1

00 Aey,Aes,...,Ae, 0 K" 0OO0OOD0OOODODOOODOODOOODOO. O

00 3.22 fO00O000O0OOO. 1) f*=f000 fO0O0COOO0OOOOOOOOOOO.
2)f*=—-f000 fO00O0O0O0O0OOOOOOOOOOOOO.
3) f*=f1000 f00000000O0O0O00O0OOO 1000000O0O.

00 VvOOODOOODOO1000,00000000 000000 AODOODO,00000000 000
000 (314000 A*0D00. A eCO f0000000D000D,A0000000000,A0 ADDOO
O000.000 A000D0 ADODOOOOveC” (n=dimV)D 1000.

HOO000 A*=A0 Av= v 000 Av,v) = (\v,v) = (Av,v) = (v, A*v) = (v, Av) = (v, \v) = A\(v,v)
00000 A=MN)(v,v)=0.v#000 A-A=0,000 ANO0O0O0OOOO.

2)0000 A*=-A0 Av= w000 Av,v) = (\v,v) = (Av,v) = (v, A*v) = (v, —Av) = (v, —Iv) =
~Av,v) 00000 A+ N)(v,v)=0.v#000 A+A=0,000 N00000O0OO.

3) 0000 A*A=FE, 0 Av=> 0 000 [M?*(v,v) = (\v, ) = (Av, Av) = (v, A*Av) = (v,v) 0000
O (M -1D(v,v)=0.v#000 N\*=1,000 AODDOO 10000000. O

00 3230000 f:V—-V0OOOOOODOOOO VvOOOOooOoOoooooog, fOo0OD0O0OODDO.

00 {vy,vs,...,v,} 0 f00000000000 VOOODOODOOO, f(v;) =A\v; 0000 (3.14) O
O f*(v;) = Ao; 000, 000 (fof)(v;) = Nif*(v;) = [Aj[2v5, (fof*)(v;) = Ajf(vs) = |A[*v; OO0
(f*of)(v;) = (fof*)(v;) 0 j=1,2,...,n 00000000, (24)000, fof = fof* 000, 0

00 3.24 A\O00OOOO f:V-VOOOD,v0 ANO0OOO 00000000000 fv)=X 000.



00 eV OO0, (z, f*(v)-\v) = (z, f*(v))— (2, \v) = (f(x),v)-A(z,v) = (f(z)-Iz,v) 00,z =000
00, f(v) = A 000 (v, f*(0)—Av) = 0. @ = £(v) D000, (f*(v), *(v)— o) = (F(F*(0)) = Af*(v),0) =
(f*(f(0) = Af*(v),v) = (f* () = Af*(v),v) =000000000000 (f*(v) — Ao, f*(v) —Av) =0. O

00 325 f:V—-VOOOOOOOO. A, pD fO0000000D0 »,wODOODOO A\, p00O000 OO0
00o00ooooog (wv,w)=0000.

00 (324)000 f(w)=pw 000 Mov,w)=w,w) = (f(v),w) = (v, f(w)) = (v,iw) = puv,w) 00
0.000 A=—p)(v,w)=00 A#p 000 (v,w)=0000. O

00 3.26 f:V -V 0O0O0O0O0O,v0 fO000000000D0 »0000000000 (v)00000OO
(v\*' O fO0DODODOO0OOO.

00 (vy0O (324000 0000000000, (3170 (315000 ()0 (f)*=f0000000
ooo. O

00 327 VO KOOODOODOOOoDOoooOoO. f:V—-VDOOOOODO, fO000000OD00O00OO0O0O KO
goooooo0 fO0000O0O0OoOoOoOoOo vooOooOooOOOOOODOOO.

OO0 vOoOOOOOOOOO0OOO0OO.dmV=1000000000000000.dimV=n-10000
000000000000 dmV =n0000000. X0 000000000000 (221)000 A0
f00000D0D0. AODOOQ fO000DODO0 0000 (3260000 (v)* 0 f0000O000DODOO.
f:(v)f = ()t 0 f(z)=f(x) 00000 (227000 f0000D0O00D0DO0OO0 KOODO. (3.10)0
OV=(@eo@ii0000 (1.14)000 dim{(v)t=n-1. 000 f00000000000000OO0OO
0 f00000000000 dim(v): 0000000 {vz,v;,...,v,} 00000. 000 vy = po 000
0, (1.14) 00 {v1,v2,...,v,} 0 00000000000 VOOOODO, vg,...,v, € ()t =(v)- 00
0 vy,v,...,v, 000000000. 0

03271 A0 KOOQOQOOoOOOO nO0ODODOOODO,AD0Q0QOODODODDOOOOD KOOOOOOO, A
googobooobooboobooon.

00 0000 Tuo(Ta)* = TuoTar = Tans = Taen = Tax0Ty = (T4)*oT, 000 Ty: K" — K" OODOOO
000.000 (327000 T, 00000000000 K'0000000 {vy,vs,...,v,} 00000. O
0oa, {vy,vs,...,v,} 0000 T, 00000000000000000000. 00 {ey,es,...,e,} 00
{v1,v5,...,v,} 0000000 POOOO P=(vyvy---v,) 00000 (321) 000 POODOOOOODO
00. {el,es,...,e,} 0000 T, 000000 AODOO (28) 000 {vy,vs,...,v,} 0000 T, 0000
00 PlAPOOOOO,PAPOODOOOOOO. 0

00 328 f:Vv—-VOoOooooooo.
1) f0000000000O00OOOO0ODO A =f000.
2)K=COOUO fO000000OOOOOOOO f~=—-f000.
3) K=COO0O 00000000000 10000000 f~=f1t000.

00 00000000 (221),(2:22), (327)00 f00000000000 VOOODOOOO {vy,vs,...,v,}
00000.000, fv,)=M\v; (j=1,2,...,n) 000,

1) (3.14) 00 f*(v;) = \jv; = \w,; = f(v;) 00000 (24) 000 f*=f000.

2) (3.14) 00 f*(v;) = A, = -\, = —f(v;) 00000 (24)000 f*=—f000.

3) 3.14) 0O frof(vy) = f*(f(vy)) = f*(\jwy) = A\ f*(v5) = [Nj[Pvy = vj =ddv(v;) DOODDO (24)00
O frof =idy 000. 00000 fof*=idy 0000000, f*=/f"1000. O
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4 0000

4.1 0OO0O0O000OO

n0000000 000,20 20 nx10000000000000000O0.

00 41 A0DD0ODO0O0O0OO0 n00000000. z€e RP0O00 '2Az 00000000 Qa:R"— R
0 AD00DO0O0O0O0OO (0)oboooooo.

xrceR'"0OO j000«;,00,A0 (4,)-000 «; 0000, aj;=a;; 00
QA(m):thx:Zaijxizj:Zanfor Z 2a;505 - (%)
ij=1 i=1 1<i<j<n
000.000 Qa0 21,29,...,2, J0000000000000. OO, P(zy,2,...,2,) 00000000
00000000000, Play,2,...,0n) = <;< cyrz; 00000000, ¢, 0 (4,4)-00, % (i < j) O
1<i<jsn

(i,j-000 (4,j)-00000 n 000000 ADOOO P(zy,29,...,4,) = Qa(z) 000,

0042 A, BO n 000000000, Qi =Qp : R" - R (OO000,0000 z€ RPO0OO
Qa(z)=Qp(z)) 000 A=B0O0OO.

00 A=(ay), B=(b;) 00, e; € R®"OD000000000, Qale;) = ‘eide; = ai, Qale: + €;) =
te;+ej)Ale;+ej) ="e;Ae; +'e;Ae; +'e;Ae; +'ejAe; = aji+a;j+aj+a;; = ai;+2a;;+a; 000,000
Qple:) = bii, Qplei+e;) =by +2by; +b; 000. 00000000 1<4,j<n 0000 Qale:) = Qple:)
Qale; +e;) = Qples + ;) OO0 ay = b, i + 2a5; +aj; = by +2by; +b;; 00000, D000O0O0D
a;; =b; 00000, O

ooooooboooog.

00 43 reR, zc R 000, Qa(re) = r2Qa(x).

4.2 0J0O00O0O0O0O0OO
oo, 00o0oboooooooooooo.
00 44 A0O0JU0D0OOO0OOO O0U0O0 Qa:R"—-RUOUOODOOOOODOOO 00000D0OCO.
x#0000 Qa(x)>0000.
2)x#£0000 Qa(x)<0000.
2)0000 x€e R*" 000, Qa(x) 20000, Qala)=0000 a£0000.
4)0000 xcR"000, Qa(x) 20000, Qa(a)=0000 a#0000.
5)Qa(a)>0000 acR"0 Qa(b)<0000beR"0OODO.

00 45 00000 AODDOOUOD 1)00000OO0,A0000OO00QOOO, 2)000000,AO000O
oooooo. o0, 5)000000 ADDOUODOoooooO.

00 46 A0 n00000,PO0 n0000000000,000 yeR"OO000O Qa(Py) = Qipap(y) O
oooo.
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00 Qa(Py)="(Py)A(Py) ="'y("PAP)y = Q:pap(y). 0

R,;(1<4,j<n)0n00000 E,00:¢:000 ;00000000000000000 Ri_jlztRij:Rij
goo,00o0oboboooooo.

00 47 A0 0000000000, R;A0 AO0 000 ;0000000000000, AR;;O0 A
00000 ;0000000000000000.000 R;AR,; 000000 AOO0O0OG0OO ¢O0O00
gbooooobooooooo.

o000 QuO0oooooooobo.boog,0b0ooooooo.

0048 A0 n0D000000DODODD,0000 PO P '200 000y 0000,

Qal@) =yi+ - +yp—vp1— Yoy (0=p=n, 0=qg<n—p)
00O0000000000O0O0.

00 00,0000 70T '200 000 % 0000, Qa(z)=cy?+ --+cpy2 0000000000
000 »000000000. A=0000000000000,4#000000. A0 (4,4)-000 a0
00.00»=10000000000000,4A0»-1000000000000000000000.

() awe 20000 kO0O0DO0O0O0;
w=R 1z 0000,w00 ;000 w; 0000, (46) 00 Qa(x) = Qa(Rent) = Qi ar,, (w) OO0,
*RinARpn = RinARpn = (bi;) 0000, (4.7) 00 bpp = arr #0000, 'Ry, ARy, 00000000000
0ooo0o0.000 by, =b,, 0000,000000 »w, 0000000000.

n n—1 n—1
QA(:IZ) = Q"RknARfm (u) = Z bijuiuj = Z bijuiuj + bnnui + Z 2bmulun

ij=1 i,j=1 i=1

n—1 n—1 b, 2 n_1 b 2
Z bijuit; + by, <un + ; b:; ui> — bun <; b:; Uz)

ij=1

n—1

n—1 2
i=1 """

b
irj=1 "

1 0

' | (PO ()00 (i=1,2,...,n-1)0 &) 000,v=Pu0000
1 0 nn
bnfln 1

ooo P =

-]

vO00 4000 0000 P,O0000OOOO0, v =y (i<n),vn:un+éi1£i—zuiDDDDD. oooo
v=PR,lz000, ()00 -
n—1
Qa(®) = Qu(Rin Py 'v) = Qugy,an,, (P ') = > (bij—w> O I (1))

4,j=1

000.000 by — %m0 (5,7)-00000 n-1000000 BDDD,O:(f;",bfjn)DDD,fu’eR”*1

0v000n00000000000000 v=PR,'2000 () 000000000000.
Qa(x) = Qc(v) = Qp(v') + banvy, -+ (idd)
BOO0DO0O0D000,n-100000 i0v eR' 000 o =77/ 00 i000 w; 0000

QB(v’)zclw%+---+cn_1w,%_1DDDDDDDDDDD.T2:(T5‘1)),DDDD T,000000. w="T,"v
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O000,v,w e R"' 00000 v,vw 000 n00000000000000 o =1, %, w, = v, O
(149) 00 w=Ty, 'PR,'2a 000 Qa(z) =crw?+--+cpqw?_; +byw2 000. 000 AD n00000O
Ooooo0ooo0oooo.
2)ann=-=a,,=0000;

A#40000 ay, 00000000 k1000, 2x=ug+u, xy=up—w,xz=u; 1#k1), 0000 P30
0i00i=k00 tep+te,i=100 tey—te,i#k 100 te;, 000000 n 00000000 u=P;'a
0000, Qa(x) = Qa(Psu) =2apu} +--- 000,w; 0000 000000, Qipyap,(u) = Qa(Psu) 000
(H)oooooooo.

0000 TO y=T"'200 j000 4 0000, Qa(x) =Qa(Ty) =c19?+---+c,y2 0000000
000.y00000000000000000, ¢1,...,¢p >0, Cpg1reerrCpig <0, Cprgp1 =+ =c, =000
000.0000 R;0000000000000000 RO 2=R'y0000,

2 2 2 2
Qa(x) =Qa(TRz) =cizi + -+ Cpzpg+ o2y + CpgZory (€1,000,6,>0, ¢y, g <0)

00000000.000,P0000000000000015i<p00 &,p+15i<p+q00 i,
p+q+1<i<n00 100000000000 w=D"120000

QA(:c):QA(TRDw):w2+---+w§—w§+1—---—w§+q
goo. ]
E, O
nO00000 -E, 0D, 00000000.
0

0 481 00000000 n00O0OOD ADODD,D0DODOO PO,'PAP=D,,000000000000.

00 D000 QuaO000,0000 PO 48)00000000DOO0O0O0O, 4600000 yeR"0O0OO,

Qupap(y) =Qa(Py) =yi+ - +yi -yl — - —yl,=Qp,,(y) 0000000 (42)00 ‘PAP =D,
ooo. O

00000000 (pg D0000000.0000,000Sylvester 100000000000000000,
00 49 0000 POOOO ‘PD,,P=D,, 000 p=s00 ¢q=t000.

00 POOOOOOOO s+t=rankDy; =rank’PD, P =rankD,,=p+¢qU000.p<s000000D0
ooo. PO (4,5)-000 ; 0000,p<s000 Y pjyy;=0(G=1,2,...,p) 0000 (0,0,...,0) 000
j=1

n
ag (yl,y27~~~,ys)DDD. ooo y5+1=---=yn=0DDD,xj: Zpijyj gooo xl,xg,...mnDDDD
j=1

0,%,92,...,9n 000000 3, =---=2,=0000. 00000000 z;,y5,00 ;0000000000
00000 2,y0000,Qp.,(y)=yi++42>0,Qp, () = —|zps1|>— - —|zp4e?S000000. O
000,z=Py000 Qp,,(x) =Qipp,,p(y) =Qp,,(y) 00000000000, {(PYD,,P! = D,,
000,0000000 s<pOOD0D00000OO. O

00 4.10 A, BOOOOODOOOOO. B=PAPODOOOOOOOD POOOODDOOD,0000 Q40 Qp
ooooooooo.

o0 4.1 2000000000000000C0O0O0O0O0O0O0O0,0000000000O0. COOO,000¢0
goooo.
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(1) Qa(x) 0 Qa(x) 000000,

(2) Qa(z) O Qp(z) 000000 Qp(z) 0 Qa(z) D0DDDODODO.
(3) Qa(xz) O Qp(z) 0000 Qp(z) 0 Qe(z) 100000 Qa(z) 0 Qe(x) DDDDDD.

00 A='E,AE, 000 (1) 00000,B='PAPOO0O A=%P-)BP-'000 (2)00000. 00,
B='PAP OO0 C='QBQ OO0 C=4PQRIAPQ)00D0 (3)00000. O

(4.8), (411)000,0000000 Q40000,Q4a0 Qp,, 00000000000000000 (p,q)
000000, (49) 000,0000 ADDDDDDDO0DD000.000,000000000.

00 412 0000 Qu0000,Qa0 Qp,, 0000000000000 0000 (p,g) 0 QuO0O000
oo.

00413 f:V — VvV 0O0OOODOO, VO fO00000000000000. f000000000
Moo, dk, 0 i=1,2...,k000, ;0000 fO0000000000 » 0000 000000
Fi(z) O (= A)™(z—A)™---(z—X\)™ 00000000

00 i=1,2....k 000 {On4oin 141 Unidotns 142 sVmtoins 14} 0 N 0000 fO00000
000000000 VOOO {v,vs,...,v,} 0000, 00000000 f00000 AO, (4,5)-000
Xi(m+-4+n1+15jS<m+---+n_1+n)000000000000000 Fy(z) = [zE, — A| =
(z=A)"(z—A)™---(x— )™ 0O0OO. O

A0 nDO0000O00000 Ta:K"—>K"0O T, =T4~=T, 000000 (322)000,A00000
goooooooooon.

00 414 A0 nO00000O00OO0 ADODDOOOOO
Fa(z)=2""P" Y e - )(@—A2) - (=) Ao, Ap >0, Apga,o s Appq <O
0000000000000.0000,0000 Q00000 (p,g) 0OD.

00 A0DODDODOODOOOOOD,0000000000. 000 (3.22)000,A00000000000000
oooOoOo, (3.271)000,000000000000000 TO 7-'AT 0000000000O00O00O0O0
O.000,7'=7"=%T000,700000000000000000000 *TAT =T-'AT O (4,4)-
000 N (i=1,2,...,p+q),0(i=s+t+1,s+t+2,...,n) 0000000000. =Ty 0000
D000 Qa(®) = Qrar(y) = Myt + Aoyd + -+ + Apag¥peg 000, 00D, = (i = 1,2,...,p), 7o
(i=p+1,p+2,....p+q), 1 (i=p+q+1,p+q+2,....,n)0 (,i)-0000000000 SOO00 y=Sz0
0000000 Qa(x) = Qiursyamrs)(z) =21+ -4z, -2, —--—22,,00000,Q,00000 (p,q)
ooo. O

00 415 000 n0 300 (00000000 )00O0 nUOOOOOOUODOOOOOUDOOOOOOOOO
00,00000000 Q000000000000 O00O00OO. (#.8)0000000000, Qa(x) OO
oboooooooooobooooooon.

00 416 000000000 ADOD,A00000 (pg 0000,0000000.
(1) A00000000000000000000 p=n00 ¢=0000.
(2)A000000D0000000D0000000 p=000 ¢g=n000.

(3)A0 (44)0 800000000000000 p<nO0 ¢=0000.
(4)A0 (44)0 4)00000000000000 p=000 ¢g<n0O0OO.
(5)A000000000000000000 p>000 ¢>0000.
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00 000 yeR"OOO,Qa(Py)=yi+ - +vy,—voy,— - —¥yp, 000 POOOODOOOO yO R"
000000 PyO R"O00DOO. 000 p=n00¢=0000 ADDO0ODO0,p=000 gq=n00
0AD0000000,p<n00 ¢q=0000 AD (44)03)0000,p=000¢gq<nO00 AO (4.4)
04 0000,p>000¢>0000 ADOOOOODODO. O

4.3 0ODUOO0O0O0bOOOOOd

gooobo,oboobooboobooboobobobobooboobog.

00 417 X0 R"00000, f: X -ROOD00O00. peX0OO00,e>00 ‘2eX 00 |z—p|<e
000 fx) < f(p)’0000000O0O0OO, fO pOODOOOOOO, f(p) 0 fOO0O0O0OOO. OO,
e>00 “¢c X 00 |z—p|<e0dD00 flx)2 f(p)’000000000O0, fO0 pO00O0O0OOOCOOO,
flp)O fOOD0DOODO.

X0 R'ODDDODODO, f: X > ROO0D00000000000000000000000000000,
xeX 000, ()0 (1,/)-00000000 1xnDO0 f(z) 000.0000,f0peX 00000
0000000000000000000000000000000.

00418 f: X RO pe X O0000,00000000000000000000,0|z—p||<cO0O
0 zeXO00O00 ¢>00000000,f0 peX 00000000000000 i=1,2,...,n 0000

d(pp=0000.

000 f:X > RO2000000000000000000000000000000, 224 (2)0 (4,5)-
00000000 000000 f(z)000.0000

’ Bmiaz]»

9% f 9% f 9% f
87%(:8) S I (x) ... o B (x)
" _ 9% f % f 3% f
(@) = Fe e (@) m(w) © Puday (@)
9% f 9% f 9% f
0,011 ( ) 0,0z ( ) W(m)

00 419 A=(a;;) 0 mxnO00 M=

gooono.
n
00 200 i000 2, 00,A00 400 @ 0000,00000000000 (3 ayz)? = (fai,z)? <
j=1
t 2 2 & 2 2 2 N 2 (O 2 2 2J 2
[[Fas ||| :(Zlaij)llwll - 000 [[Az| :Zl(. 1“1’]’@) S Zl(Zlaij)llmll = M=z 0
1= =1 j= i=1 j=

00 420 ADDDO00000000000 p0,0|2=1000 Qa(x)>2p0000000000.00 4
00000000000000 vO,0|2|=1000 Qa(x)<v0000000000.

00 A0DDOOOOOODDD (481), (416) 000000 PO''PAP=FE,000000000. P = (pij),

p=(X py),y=P'20000,|lz|=1000 (419) 00000 1=||Py| < Zllyll 000 Qa(Py) =
i,j=1
Qe.(y) =yl*zp. 0OOOODO. .

oboooOoboobooobooboooooboooon.
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00 4.21 f: X - RO r0000000,-00000000000000000.peX0000|lz—p|l<c
000 e X0000 ¢>000000,000 e>00000,6>00,0<|z—p||<d000

. 1 akf % % r
f@-fm-3 Y (0)(@1 — p1)i* -+ (n — pu)i»| < ellz — ]

=L iy 1! ' -+ ury
oooooooboooag.
oboor=2000000000000000O0OO.

04211 f: X— RO 20000000,200000000000000000.peX0000|z—p||<c
000 ¢ XO00O00O ¢>000000,000 e>00000,6>00,0<|z—p||<d000

1
f(@) = f(p) = I'(P) = 5Qp ) (= — p)| <&l — p||*
DoD0O00O00000d.

f+X-RO200000000000000C000D0O000D0O00O0.peXx00DO,0D0000 r>00
O000|xz—-p||<r000 xeXO0UOOOOOOOO. 0O0O0UDO fO0pO000000DO0O0OOOODOOO
goooooo.

00 4.22 f/(p)=(0,...,0) 000.
(1) f/(p) 00D0O0OOO0D0D pO fO0DO.
(2) f/(p) 00D0OOODDOD pO fOODO.
(3) f/(p) 00000000 p0O fO00000O0O0D0DOO.

00 00 (421.1)00,000 e>0000,0<6<r00<|z—pll<s000

L@@ —p) —lle —pl” < f(@) — [B) < 5Qpp(@—p) +el—pl? - (4

Oooo0OoO0OooooO,.

(1) f(p) 00DOOOODOO00 (4200000000 p0,0veR" D00 Qpp(v) 2 puv|000000
O00000.e=4p000046>00000,# 000<|z—p|<d000 f(z)>flp00000.

(2000 (1)00O000o0o.

(3) f(p) DDDDOO0O0D Qpupy(a) >0, Qpuip(d) <0000 a,be R*"OI0D, (43)00,00000
00000000000 |a|=|b|=10000000.z=p+ta (|t|<r) 000 e=1Qp(a) D000
0<0<r0000 ()00 0<|t<6000 f(=)—f(P)>EQpup(a)>0000.000 f0 p00D0D
000.00az=p+tb(t|<r) 000 e=—-1Qpup® 0000 0<6<r0000 (x) 00 0<[t|<60
00 f(®)— f(p) < 5Qpp(b)<0000.000 f0 p0OOO0ODO. 0
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